STYKLISTE

Side 1
MODEL GA9020S
Pos. Art.nr. Betegnelse Stk. Note
001 4191334 KUNSTSTOFKAPPE (GA9020SF) 1
002 233292-8 TRYKFJEDER 12 (9069S) 1
003 266012-5 BLIKSKRUE 5X35###(266373-3) 4
004 419144-9 GUMMIKAPPE 1
005 154685-5 GEARHUS (GA9020SF) 1
006 252194-9 SEKSKANTM@TRIK M8 (GA9020SF) 1
007 227490-4 KEGLEHJUL 12 (GA9020SF) 1
008 211132-0 KUGLELEJE##(211111-8) 1
009 262085-6 GUMMIRING 38 1
010 267299-2 SKIVE 20 (GA9020SF) 1
011 962211-4 LASERING R-42 1
012 240081-4 FAN 80 1
013  517793-7 ARMATURE ASS'Y 220V 1
INC. 12,14,15
014 681630-2 ISOLERINGSSKIVE (9029SF) 1
015 210075-3 KUGLELEJE 6200DDW (GA9020SF) 1
016  419135-0 FELDAFDAKNING (GA9020SF) 1
017 526179-4 FELT 1
018 266044-2 BLIKSKRUE PT5x60 HR4000C 2
019 154671-6 MOTORHUS (GA9020SF) 1
020 643700-5 KULDAKSEL (HM1800) 2
021  191957-7 KULSAT CB-204 1
022 861763-1 TYPE SKILT(GA9020S) 1
023 646788-4 STARTSTROMSBEGRANSER 1
024 686036-9 KONTAKTSCHUTZ 2
025 651179-6 AFBRYDER (GA9020) 1
026 645088-9 KONDENSATOR 1
027 188059-8 HANDGREB (GA9020SF) 1
INC. 32
028 266192-7 SKRUE M4X14 (HR4010C) 1
029 687169-3 KABELKLEMMEPLADE 1
030 695107-1 ANSCHLUSSLEITUNG 2x1,5mm 1
031 682560-0 BESKYTTELSESKNAKLED 10 1
032 188059-8 HANDGREB (GA9020SF) 1
INC. 27
033 265999-8 SKRUE M4X25###(266374-1) 4
034 213062-1 O-RING 9 (BSR730) 1
035 256491-5 STIFT 5 (GA9020SF) 1
036 263002-9 GUMMISTIFT 4 1
037 210067-2 KUGLELEJE 6000Z2Z 1
038 227491-2 TANDHJUL 53A (GA9020SF) 1
039 265120-9 SKRUE M5x16 (GA9020SF) 3
040 285724-1 AFDZAKNING 50 (GA9020SF) 1
041 211285-5 RILLENKUGELLAGER 6203DDW 1
042 213760-7 O-RING 78 1
043 318377-2 LAGERSCHILD 1
044  265541-5 SEKSKANTSKRUE M6X22 (GA9020SF) 4
045 158206-5 SPINDEL (GA9020SF) 1
046  265198-2 SCHRAUBE M8x25 1
047 122891-0 SKARM 230MM##H#£(122913-6) 1
INC. 46
048 122444-5 FLANGE 47 (GA9020) 1
049 224543-0 FLANGE 14-45 1
050 233946-7 FEDERRING 15 1
051 819357-6 SCHUTZFOLIE 1
AO01  152539-0 SIDEGREB 1
A02 782407-9 TAPN@GLE 35 1
A03 824958-7 TRANSPORTKUFFERT (GA9020RF) 1
AO4 —_—
A05 P-44155 DIAMANTKL. 230x22,23 DIAMAK 2




EKSPLOSIONSTEGNING

Side 1

MODEL GA9020S

)
OOOQ

OOOOQQ
ocooonc uwa

ooao ac 2/
- &
|
Suqfi)
fooagf)

o)

[ ~
< <




